

RESEARCH

Open Access



# Reverse Beckenbach-Dresher's inequality

Chang-Jian Zhao<sup>1\*</sup> and Wing-Sum Cheung<sup>2</sup>

\*Correspondence:  
chjzhao@163.com

<sup>1</sup>Department of Mathematics, China  
Jiliang University, Hangzhou,  
310018, P.R. China  
Full list of author information is  
available at the end of the article

## Abstract

In the paper, we establish an inverse of Beckenbach-Dresher's integral inequality, which provides new estimates on inequality of this type.

**MSC:** 26D15

**Keywords:** Beckenbach's inequality; Radon's inequality; Beckenbach-Dresher's inequality

## 1 Introduction

The well-known inequality due to Beckenbach can be stated as follows (see [1], also see [2], p.27).

**Theorem A** *If  $1 \leq p \leq 2$ , and  $x_i, y_i > 0$  for  $i = 1, 2, \dots, n$ , then*

$$\frac{\sum_{i=1}^n (x_i + y_i)^p}{\sum_{i=1}^n (x_i + y_i)^{p-1}} \leq \frac{\sum_{i=1}^n x_i^p}{\sum_{i=1}^n x_i^{p-1}} + \frac{\sum_{i=1}^n y_i^p}{\sum_{i=1}^n y_i^{p-1}}. \quad (1.1)$$

An integral analogue of Beckenbach's inequality easily follows.

**Theorem B** *Let  $1 \leq p \leq 2$ . If  $f$  and  $g$  are positive and continuous functions on  $[a, b]$ , then*

$$\frac{\int_a^b (f(x) + g(x))^p dx}{\int_a^b (f(x) + g(x))^{p-1} dx} \leq \frac{\int_a^b f(x)^p dx}{\int_a^b f(x)^{p-1} dx} + \frac{\int_a^b g(x)^p dx}{\int_a^b g(x)^{p-1} dx}. \quad (1.2)$$

An extension of Beckenbach's inequality was obtained by Dresher [3] by an ingenious method using moment-space theory.

**Theorem C** *Let  $f$  and  $g$  be positive and continuous functions on  $[a, b]$ . If  $p \geq 1 \geq r \geq 0$ , then*

$$\left( \frac{\int_a^b (f(x) + g(x))^p dx}{\int_a^b (f(x) + g(x))^r dx} \right)^{1/(p-r)} \leq \left( \frac{\int_a^b f^p(x) dx}{\int_a^b f^r(x) dx} \right)^{1/(p-r)} + \left( \frac{\int_a^b g^p(x) dx}{\int_a^b g^r(x) dx} \right)^{1/(p-r)}. \quad (1.3)$$

The inequality which we shall call Beckenbach-Dresher's inequality. In fact, this result was also established by Danskin [4], who employed a combination of Hölder's and Minkowski's inequalities.

Beckenbach-Dresher’s inequality was studied extensively and numerous variants, generalizations, and extensions appeared in the literature (see [3–12] and the references cited therein). Research of reverse Beckenbach-Dresher’s integral inequality is rare (see [13] and [14]). The aim of this paper is to discuss reverse Beckenbach-Dresher’s integral inequality and establish the following reversed Beckenbach-Dresher integral inequality by deriving reverse Hölder’s, Minkowski’s and Radon’s integral inequalities.

**Theorem** *Let  $f$  and  $g$  be continuous functions on  $[a, b]$ ,  $0 < m_1 \leq f(x) \leq M_1$  and  $0 < m_2 \leq g(x) \leq M_2$ . If  $p \geq 1 \geq r \geq 0$ , then*

$$\ell \cdot \left( \frac{\int_a^b (f(x) + g(x))^p dx}{\int_a^b (f(x) + g(x))^r dx} \right)^{1/(p-r)} \geq \left( \frac{\int_a^b f^p(x) dx}{\int_a^b f^r(x) dx} \right)^{1/(p-r)} + \left( \frac{\int_a^b g^p(x) dx}{\int_a^b g^r(x) dx} \right)^{1/(p-r)}, \tag{1.4}$$

where

$$\ell = \frac{L_{\alpha,\beta}(s, t, S, T)}{\Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2)}, \quad \frac{1}{\alpha} + \frac{1}{\beta} = 1, \alpha > 1, \tag{1.5}$$

$$L_{\alpha,\beta}(s, t, S, T) = (\Upsilon_{\alpha,\beta}(sT^{-\frac{m}{m+1}}, (stS^{-1})^{\frac{m}{m+1}}, St^{-\frac{m}{m+1}}, (s^{-1}ST)^{\frac{m}{m+1}}))^{m+1}, \quad m > 0, \tag{1.6}$$

$$s = \min\{m_1(b-a)^{1/p}, m_2(b-a)^{1/p}\}, \quad S = \max\{M_1(b-a)^{1/p}, M_2(b-a)^{1/p}\},$$

$$t = \min\{m_1(b-a)^{1/r}, m_2(b-a)^{1/r}\}, \quad T = \max\{M_1(b-a)^{1/r}, M_2(b-a)^{1/r}\},$$

$$\begin{aligned} \Upsilon_{\alpha,\beta}(m_1, m_2, M_1, M_2) = \max \left\{ C_{\alpha,\beta} \left( \frac{M_1^\alpha}{m_1^\alpha(b-a)}, \frac{m_2^\beta}{M_2^\beta(b-a)} \right), \right. \\ \left. C_{\alpha,\beta} \left( \frac{m_1^\alpha}{M_1^\alpha(b-a)}, \frac{M_2^\beta}{m_2^\beta(b-a)} \right) \right\}, \tag{1.7} \end{aligned}$$

$$C_{\alpha,\beta}(\xi, \eta) = \frac{\xi/\alpha + \eta/\beta}{\xi^{1/\alpha} \eta^{1/\beta}}, \tag{1.8}$$

and

$$\begin{aligned} \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2) \\ = \max \{ \Upsilon_{\alpha,\beta}(m_1, (m_1 + m_2)^{\alpha-1}, M_1, (M_1 + M_2)^{\alpha-1}), \\ \Upsilon_{\alpha,\beta}(m_2, (m_1 + m_2)^{\alpha-1}, M_2, (M_1 + M_2)^{\alpha-1}) \}. \tag{1.9} \end{aligned}$$

**2 Proof of theorem**

**Lemma 2.1** [15] *If  $0 < m_1 \leq a \leq M_1$ ,  $0 < m_2 \leq b \leq M_2$ ,  $\frac{1}{\alpha} + \frac{1}{\beta} = 1$  and  $\alpha > 1$ , then*

$$\max \{ C_{\alpha,\beta}(M_1, m_2), C_{\alpha,\beta}(m_1, M_2) \} \cdot \alpha\beta a^{1/\alpha} b^{1/\beta} \geq a\beta + b\alpha, \tag{2.1}$$

with equality if and only if either  $(a, b) = (m_1, M_2)$  or  $(a, b) = (M_1, m_2)$ , where  $C_{\alpha,\beta}(\xi, \eta)$  is as in (1.8).

Obviously, by using a way similar to the proof of (2.1), we may find that inequality (2.1) is reversed if  $0 < \alpha < 1$  or  $\alpha < 0$ . Here, we omit the details.

**Lemma 2.2** *Let  $f$  and  $g$  be positive continuous functions on  $[a, b]$ ,  $\frac{1}{\alpha} + \frac{1}{\beta} = 1$ ,  $\alpha > 1$  and  $f^\alpha$  and  $g^\beta$  be integrable on  $[a, b]$ . If  $0 < m_1 \leq f(x) \leq M_1$  and  $0 < m_2 \leq g(x) \leq M_2$ , then*

$$\left(\int_a^b f^\alpha(x) dx\right)^{1/\alpha} \left(\int_a^b g^\beta(x) dx\right)^{1/\beta} \leq \Upsilon_{\alpha,\beta}(m_1, m_2, M_1, M_2) \cdot \int_a^b f(x)g(x) dx, \tag{2.2}$$

*with equality if and only if  $f^\alpha$  and  $g^\beta$  are proportional, where  $\Upsilon_{\alpha,\beta}(m_1, m_2, M_1, M_2)$  is as in (1.7).*

*The inequality is reversed if  $0 < \alpha < 1$  or  $\alpha < 0$ .*

*Proof* If we set successively

$$\begin{aligned} \bar{a} &= \frac{f^\alpha(x)}{X}, & X &= \int_a^b f^\alpha(x) dx, \\ \bar{b} &= \frac{g^\beta(x)}{Y}, & Y &= \int_a^b g^\beta(x) dx. \end{aligned}$$

Notice that

$$\frac{m_1^\alpha}{M_1^\alpha(b-a)} \leq \bar{a} \leq \frac{M_1^\alpha}{m_1^\alpha(b-a)},$$

and

$$\frac{m_2^\beta}{M_2^\beta(b-a)} \leq \bar{b} \leq \frac{M_2^\beta}{m_2^\beta(b-a)}.$$

By using Lemma 2.1, we have

$$\begin{aligned} &\max \left\{ C_{\alpha,\beta} \left( \frac{M_1^\alpha}{m_1^\alpha(b-a)}, \frac{m_2^\beta}{M_2^\beta(b-a)} \right), C_{\alpha,\beta} \left( \frac{m_1^\alpha}{M_1^\alpha(b-a)}, \frac{M_2^\beta}{m_2^\beta(b-a)} \right) \right\} \cdot \frac{f(x)g(x)}{X^{1/\alpha} Y^{1/\beta}} \\ &\geq \frac{1}{\alpha} \frac{f^\alpha(x)}{X} + \frac{1}{\beta} \frac{g^\beta(x)}{Y}, \end{aligned}$$

with equality if and only if either

$$(\bar{a}, \bar{b}) = \left( \frac{m_1^\alpha}{M_1^\alpha(b-a)}, \frac{M_2^\beta}{m_2^\beta(b-a)} \right)$$

or

$$(\bar{a}, \bar{b}) = \left( \frac{M_1^\alpha}{m_1^\alpha(b-a)}, \frac{m_2^\beta}{M_2^\beta(b-a)} \right).$$

Therefore

$$\Upsilon_{\alpha,\beta}(m_1, m_2, M_1, M_2) \cdot \frac{\int_a^b f(x)g(x) dx}{X^{1/\alpha} Y^{1/\beta}} \geq \frac{1}{\alpha} \frac{\int_a^b f^\alpha(x) dx}{X} + \frac{1}{\beta} \frac{\int_a^b g^\beta(x) dx}{Y} = 1. \tag{2.3}$$

From (2.3), inequality (2.2) easily follows.

In the following, we discuss the equality condition of (2.2). In view of the equality conditions of Lemma 2.1, the equality in (2.3) holds if and only if

$$\left( \frac{f^\alpha(x)}{\int_a^b f^\alpha(x) dx}, \frac{g^\beta(x)}{\int_a^b g^\beta(x) dx} \right) = \left( \frac{m_1^\alpha}{M_1^\alpha(b-a)}, \frac{M_2^\beta}{m_2^\beta(b-a)} \right),$$

or

$$\left( \frac{f^\alpha(x)}{\int_a^b f^\alpha(x) dx}, \frac{g^\beta(x)}{\int_a^b g^\beta(x) dx} \right) = \left( \frac{M_1^\alpha}{m_1^\alpha(b-a)}, \frac{m_2^\beta}{M_2^\beta(b-a)} \right).$$

Hence  $f^\alpha(x) = \mu g^\beta(x)$ , where

$$\mu = \frac{m_1^\alpha m_2^\beta}{M_2^\beta M_1^\alpha} \frac{\|f\|_\alpha^\alpha}{\|g\|_\beta^\beta},$$

or

$$\mu = \frac{M_1^\alpha M_2^\beta}{m_2^\beta m_1^\alpha} \frac{\|f\|_\alpha^\alpha}{\|g\|_\beta^\beta}$$

is a constant. It follows that the equality in (2.2) holds if and only if  $f^\alpha$  and  $g^\beta$  are proportional.

This proof is completed. □

**Lemma 2.3** *Let  $f$  and  $g$  be non-negative continuous functions on  $[a, b]$ . If  $0 < m_1 \leq f(x) \leq M_1, 0 < m_2 \leq g(x) \leq M_2$  and  $\alpha > 1$ , then*

$$\begin{aligned} & \left( \int_a^b (f(x) + g(x))^\alpha dx \right)^{1/\alpha} \\ & \geq \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2) \left( \left( \int_a^b f^\alpha(x) dx \right)^{1/\alpha} + \left( \int_a^b g^\alpha(x) dx \right)^{1/\alpha} \right), \end{aligned} \tag{2.4}$$

with equality if and only if  $f$  and  $g$  are proportional, where  $\Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2)$  is as in (1.9).

The inequality is reversed if  $0 < \alpha < 1$  or  $\alpha < 0$ .

*Proof* From the hypotheses, we have

$$\|f(x) + g(x)\|_\alpha^\alpha = \|f(x)[f(x) + g(x)]^{\alpha-1}\|_1 + \|g(x)[f(x) + g(x)]^{\alpha-1}\|_1. \tag{2.5}$$

By using Lemma 2.2, we obtain

$$\begin{aligned} \|f(x)[f(x) + g(x)]^{\alpha-1}\|_1 & \geq [\Upsilon_{\alpha,\beta}(m_1, (m_1 + m_2)^{\alpha-1}, M_1, (M_1 + M_2)^{\alpha-1})]^{-1} \\ & \times \|f(x)\|_\alpha \cdot \|f(x) + g(x)\|_\alpha^{\alpha/\beta}, \end{aligned} \tag{2.6}$$

with equality if and only if  $f^\alpha(x)$  and  $(f(x) + g(x))^\alpha$  are proportional. It follows that the equality holds if and only if  $f(x)$  and  $g(x)$  are proportional.

$$\begin{aligned} \|g(x)[f(x) + g(x)]^{\alpha-1}\|_1 &\geq [\Upsilon_{\alpha,\beta}(m_2, (m_1 + m_2)^{\alpha-1}, M_2, (M_1 + M_2)^{\alpha-1})]^{-1} \\ &\times \|g(x)\|_\alpha \cdot \|f(x) + g(x)\|_\alpha^{\alpha/\beta}, \end{aligned} \tag{2.7}$$

with equality if and only if  $g^\alpha(x)$  and  $(f(x) + g(x))^\alpha$  are proportional. It follows that the equality holds if and only if  $f(x)$  and  $g(x)$  are proportional. Hence

$$\|f(x) + g(x)\|_\alpha^\alpha \geq \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2) \cdot \|f(x) + g(x)\|_\alpha^{\alpha/\beta} (\|f(x)\|_\alpha + \|g(x)\|_\alpha), \tag{2.8}$$

where  $\Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2) = \max\{M, N\}$ ,

$$M = \Upsilon_{\alpha,\beta}(m_1, (m_1 + m_2)^{\alpha-1}, M_1, (M_1 + M_2)^{\alpha-1}),$$

and

$$N = \Upsilon_{\alpha,\beta}(m_2, (m_1 + m_2)^{\alpha-1}, M_2, (M_1 + M_2)^{\alpha-1}).$$

Dividing both sides of (2.8) by  $\|f(x) + g(x)\|_\alpha^{\alpha/\beta}$ , we have

$$\|f(x) + g(x)\|_\alpha \geq \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2) \cdot (\|f(x)\|_\alpha + \|g(x)\|_\alpha). \tag{2.9}$$

Moreover, in view of the equality conditions of (2.6) and (2.7), it follows that the equality in (2.4) holds if and only if  $f(x)$  and  $g(x)$  are proportional.

This proof is completed. □

**Lemma 2.4** *Let  $f$  and  $g$  be continuous functions on  $[a, b]$ ,  $0 < m_1 \leq f(x) \leq M_1$  and  $0 < m_2 \leq g(x) \leq M_2$ . If  $m > 0$ , then*

$$\int_a^b \frac{f^{m+1}(x)}{g^m(x)} dx \leq L_{\alpha,\beta}(m_1, m_2, M_1, M_2) \frac{(\int_a^b f(x) dx)^{m+1}}{(\int_a^b g(x) dx)^m}, \tag{2.10}$$

where  $L_{\alpha,\beta}(m_1, m_2, M_1, M_2)$  is as in (1.6).

*Proof* Let  $\alpha = m + 1$ ,  $\beta = (m + 1)/m$  and replacing  $f(x)$  and  $g(x)$  by  $u(x)$  and  $v(x)$  in (2.2), respectively, we have

$$\begin{aligned} &\left(\int_a^b u(x)^{m+1} dx\right)^{1/(m+1)} \left(\int_a^b v(x)^{(m+1)/m} dx\right)^{m/(m+1)} \\ &\leq \Upsilon_{\alpha,\beta}(m_1, m_2, M_1, M_2) \cdot \int_a^b u(x)v(x) dx. \end{aligned} \tag{2.11}$$

Taking for

$$u(x) = \left(\frac{f(x)}{g(x)}\right)^{1/(m+1)}, \quad v(x) = f^{m/(m+1)}(x)g^{1/(m+1)}(x)$$

in (2.11), and in view of

$$\left(\frac{m_1}{M_2}\right)^{\frac{1}{m+1}} \leq u(x) \leq \left(\frac{M_1}{m_2}\right)^{\frac{1}{m+1}}$$

and

$$m_1^{\frac{m}{m+1}} m_2^{\frac{1}{m+1}} \leq v(x) \leq M_1^{\frac{m}{m+1}} M_2^{\frac{1}{m+1}},$$

we obtain

$$\begin{aligned} & \Upsilon_{\alpha,\beta} \left( (m_1 M_2^{-1})^{\frac{1}{m+1}}, m_1^{\frac{m}{m+1}} m_2^{\frac{1}{m+1}}, (M_1 m_2^{-1})^{\frac{1}{m+1}}, M_1^{\frac{m}{m+1}} M_2^{\frac{1}{m+1}} \right) \int_a^b f(x) dx \\ & \geq \left( \int_a^b \frac{f(x)}{g(x)} dx \right)^{1/(m+1)} \left( \int_a^b f(x) g^{1/m}(x) dx \right)^{m/(m+1)}. \end{aligned}$$

Hence

$$\begin{aligned} & \int_a^b \frac{f(x)}{g(x)} dx \\ & \leq \frac{[\Upsilon_{\alpha,\beta} \left( (m_1 M_2^{-1})^{\frac{1}{m+1}}, m_1^{\frac{m}{m+1}} m_2^{\frac{1}{m+1}}, (M_1 m_2^{-1})^{\frac{1}{m+1}}, M_1^{\frac{m}{m+1}} M_2^{\frac{1}{m+1}} \right) \int_a^b f(x) dx]^{m+1}}{\left( \int_a^b f(x) g^{1/m}(x) dx \right)^m}. \end{aligned} \tag{2.12}$$

On the other hand, in (2.12), replacing  $f(x)$  and  $g(x)$  by  $u(x)$  and  $v(x)$ , respectively, and letting  $u(x) = f(x)$  and  $v(x) = \left(\frac{g(x)}{f(x)}\right)^m$ , and in view of

$$m_1 \leq u(x) \leq M_1$$

and

$$\left(\frac{m_2}{M_1}\right)^m \leq v(x) \leq \left(\frac{M_2}{m_1}\right)^m,$$

we have

$$\begin{aligned} & \int_a^b \frac{f^{m+1}(x)}{g^m(x)} dx \\ & \leq \frac{[\Upsilon_{\alpha,\beta} (m_1 M_2^{-\frac{m}{m+1}}, (m_1 m_2 M_1^{-1})^{\frac{m}{m+1}}, M_1 m_2^{-\frac{m}{m+1}}, (m_1^{-1} M_1 M_2)^{\frac{m}{m+1}}) \int_a^b f(x) dx]^{m+1}}{\left( \int_a^b g(x) dx \right)^m} \\ & = \frac{L_{\alpha,\beta}(m_1, m_2, M_1, M_2) \left( \int_a^b f(x) dx \right)^{m+1}}{\left( \int_a^b g(x) dx \right)^m}. \end{aligned}$$

This proof is completed. □

Let  $f(x)$  and  $g(x)$  reduce to positive real sequences  $a_i$  and  $b_i$  ( $i = 1, \dots, n$ ), respectively, and with appropriate changes in the proof of (2.10), we have the following.

**Lemma 2.5** *Let  $a_i$  and  $b_i$  be positive real sequences and  $0 < m_1 \leq a_i \leq M_1$ ,  $0 < m_2 \leq b_i \leq M_2$ ,  $i = 1, \dots, n$ . If  $m > 0$ , then*

$$\sum_{i=1}^n \frac{a_i^{m+1}}{b_i^m} \leq L_{\alpha,\beta}(m_1, m_2, M_1, M_2) \frac{\left(\sum_{i=1}^n a_i\right)^{m+1}}{\left(\sum_{i=1}^n b_i\right)^m}, \tag{2.13}$$

where  $L_{\alpha,\beta}(m_1, m_2, M_1, M_2)$  is as in Lemma 2.4.

This is just an inverse of the following well-known Radon's inequality [16], p.61

$$\sum_{i=1}^n \frac{a_i^{m+1}}{b_i^m} \geq \frac{(\sum_{i=1}^n a_i)^{m+1}}{(\sum_{i=1}^n b_i)^m},$$

where  $m > 0$ ,  $a_i \geq 0$  and  $b_i > 0$ ,  $i = 1, 2, \dots, n$ .

*Proof of Theorem* Let

$$\begin{aligned} \alpha_1 &= \left( \int_a^b f^p(x) dx \right)^{1/p}, & \beta_1 &= \left( \int_a^b f^r(x) dx \right)^{1/r}, \\ \alpha_2 &= \left( \int_a^b g^p(x) dx \right)^{1/p}, & \beta_2 &= \left( \int_a^b g^r(x) dx \right)^{1/r}, \end{aligned}$$

then

$$0 < m_1(b - a)^{1/p} \leq \alpha_1 \leq M_1(b - a)^{1/p},$$

$$0 < m_2(b - a)^{1/p} \leq \alpha_2 \leq M_2(b - a)^{1/p},$$

$$0 < m_1(b - a)^{1/r} \leq \beta_1 \leq M_1(b - a)^{1/r},$$

and

$$0 < m_2(b - a)^{1/r} \leq \beta_2 \leq M_2(b - a)^{1/r}.$$

Let

$$s = \min\{m_1(b - a)^{1/p}, m_2(b - a)^{1/p}\}, \quad S = \max\{M_1(b - a)^{1/p}, M_2(b - a)^{1/p}\}$$

and

$$t = \min\{m_1(b - a)^{1/r}, m_2(b - a)^{1/r}\}, \quad T = \max\{M_1(b - a)^{1/r}, M_2(b - a)^{1/r}\}.$$

From reverse Radon's inequality (2.13) in Lemma 2.5, we have, for  $m > 0$ ,

$$\frac{\alpha_1^{m+1}}{\beta_1^m} + \frac{\alpha_2^{m+1}}{\beta_2^m} \leq L_{\alpha,\beta}(s, t, S, T) \frac{(\alpha_1 + \alpha_2)^{m+1}}{(\beta_1 + \beta_2)^m}. \tag{2.14}$$

If  $m = \frac{r}{p-r}$ , then

$$\begin{aligned} & \left( \frac{\int_a^b f^p(x) dx}{\int_a^b f^r(x) dx} \right)^{1/(p-r)} + \left( \frac{\int_a^b g^p(x) dx}{\int_a^b g^r(x) dx} \right)^{1/(p-r)} \\ & \leq L_{\alpha,\beta}(s, t, S, T) \frac{[(\int_a^b f^p(x) dx)^{1/p} + (\int_a^b g^p(x) dx)^{1/p}]^{p/(p-r)}}{[(\int_a^b f^r(x) dx)^{1/r} + (\int_a^b g^r(x) dx)^{1/r}]^{r/(p-r)}}. \end{aligned} \tag{2.15}$$

We have assumed  $p > r > 0$ , since  $m = \frac{r}{p-r} > 0$ .

On the other hand, by using the Minkowski inequality (2.4) and its reverse form, with  $p \geq 1$  and  $0 < r \leq 1$ , respectively,

$$\begin{aligned} & \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2)^p \left[ \left( \int f^p(x) dx \right)^{1/p} + \left( \int g^p(x) dx \right)^{1/p} \right]^p \\ & \leq \int (f(x) + g(x))^p dx, \end{aligned} \tag{2.16}$$

with equality if and only if  $f$  and  $g$  are proportional, and

$$\begin{aligned} & \Gamma_{\alpha,\beta}(m_1, m_2, M_1, M_2)^r \left[ \left( \int f^r(x) dx \right)^{1/r} + \left( \int g^r(x) dx \right)^{1/r} \right]^r \\ & \geq \int (f(x) + g(x))^r(x) dx, \end{aligned} \tag{2.17}$$

with equality if and only if  $f$  and  $g$  are proportional.

From (2.15), (2.16) and (2.17), (1.4) follows. This proof is completed.  $\square$

**Competing interests**

The authors declare that they have no competing interests.

**Authors' contributions**

C-JZ and W-SC jointly contributed to the main results. All authors read and approved the final manuscript.

**Author details**

<sup>1</sup>Department of Mathematics, China Jiliang University, Hangzhou, 310018, P.R. China. <sup>2</sup>Department of Mathematics, The University of Hong Kong, Pokfulam Road, Hong Kong, P.R. China.

**Acknowledgements**

The first author's research is supported by the Natural Science Foundation of China (11371334). The second author's research is partially supported by a HKU Seed Grant for Basic Research. The authors express their grateful thanks to the two referees for their excellent suggestions and comments.

Received: 11 September 2014 Accepted: 27 April 2015 Published online: 07 May 2015

**References**

1. Beckenbach, EF: A class of mean-value functions. *Am. Math. Mon.* **57**, 1-6 (1950)
2. Beckenbach, EF, Bellman, R: *Inequalities*. Springer, Berlin (1961)
3. Dresher, M: Moment space and inequalities. *Duke Math. J.* **20**, 261-271 (1953)
4. Danskin, JM: Beckenbach inequality and its variants. *Am. Math. Mon.* **49**, 687-688 (1952)
5. Wang, CL: Dresher's inequality. *J. Math. Anal. Appl.* **130**, 252-256 (1952)
6. Wang, CL: Variants of the Hölder inequality and its inverses. *Can. Math. Bull.* **20**, 377-384 (1977)
7. Nikolova, L, Persson, LE, Varošanec, S: The Beckenbach-Dresher inequality in the  $\Psi$ -direct sums of spaces and related results. *J. Inequal. Appl.* **2012**, 7 (2012)
8. Peetre, J, Persson, LE: A general Beckenbach's inequality with applications. In: *Function Spaces, Differential Operators and Nonlinear Analysis*. Pitman Res Notes Math Ser., vol. 211, pp. 125-139 (1989)
9. Varošanec, S: The generalized Beckenbach inequality and related results. *Banach J. Math. Anal.* **4**(1), 13-20 (2010)
10. Guljaš, B, Pearce, CEM, Pečarić, J: Some generalizations of the Beckenbach-Dresher inequality. *Houst. J. Math.* **22**, 629-638 (1996)
11. Bibi, R, Bohner, M, Pečarić, J, Varošanec, S: Minkowski and Beckenbach-Dresher inequalities and functions on time scales. *J. Math. Inequal.* **7**(3), 299-312 (2013)
12. Kusraev, AG: A Beckenbach-Dresher type inequality in uniformly complete  $f$ -algebras. *Vladikavkaz. Mat. Zh.* **13**(1), 38-43 (2011)
13. Liu, Z: Reverse Dresher inequality. *Pure Appl. Math.* **17**, 214-216 (2001) (in Chinese)
14. Mitrinović, DS, Pečarić, JE, Fink, AM: *Classical and New Inequalities in Analysis*. Kluwer Academic, Dordrecht (1993)
15. Zhang, Y: On inverse of the Hölder inequality. *J. Math. Anal. Appl.* **161**, 566-575 (1991)
16. Hardy, GH, Littlewood, JE, Pólya, G: *Inequalities*. Cambridge University Press, Cambridge (1934)